1 112& < & > AMEEHEHL 2RI

==> R1 1

#1: 9 EREBEFRERA7.1D) #2: 3 a%rm%(m 68) #3: 5 BkiEAElIH (14.39)

1 NS: Pdst $8{-88GH0) -3 2 NS: BEsF Hig=(FC) 1 8.73 11.27 | Total VP: 8.73 Rank:
EW: MiEIEY FiksfEEAC) 1 EW: B ZIEBIo) 3 IMP:| 14 17 7
I -
#1 » AT3 1NW-2 100 Mean: 3HW-4 200 3.0 1 #2 » J654 4HE4 -420 Mean: 4HE-3 150 80 1
v AJ76 3HW-4 200 100 1NW-3 150 20 1 v Q75 4HE5 -450 -210  4HE-2 100 70 2
¢ 62 Dif: -100 NS:0 1NN2 120 1.0 3 ¢ 93 Dif: 30 NS:-5 4HE-1 50 60 1
» T765 IMP: -3 EW:-3 1NW-2 100 00 1 & AQJ4 IMP: 1 EW:6 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N ~~~~~ v KT5 N ~~~~~ v T3
§ ~~~~~ + KT84 S ~~~~~ o JT8742
E ~~~~~ & A84 E ~~~~~ & 652
W ~~~~~ W ~~~~~
#3 » AQ74 6CS6 920 Mean: 6DN6 920 30 2||#4 » K97 1SW2 -110 Mean: 3DW-2 200 6.0 1
6CS6 920 820 6CS6 920 30 7 v QJ8 1NN190 -30 1NNt 90 30 2
+ KQJ983 Dif: 0 NS:3 6DS-1 50 130 1 + K964 Dif: -200 NS:-2 3DW3 410 20 1
& 972 IMP: 0 EW:-3 & AJT IMP: -5 EW:-3 2DW3 110 20 1
» T983 a AJ4 1SW2 110 2.0 1
v QT63 + v T952 1NW1 90 20 1
¢ T2 ¢ T753 1NN-1 100 20 1
» A64 a K7 1NE1 90 20 1
a J2 a 152 1SW3 140 3.0 1
v AKJ9 v K643
*A *Q
& KQJ853 & Q8654
#5 » Q64 3DE3 -110 Mean: 3NE-4 200 60 1||#6 » K97 2HW4 170 Mean: 4HW-1 100 110 1
v A92 3SS-2-200 -50 5CE-3 150 50 1 v K92 4HW4 -620 -410  3HW4 470 6.0 1
+ Q764 Dif: 90 NS:-2 2CE2 9 1.0 1 ¢ J653 Dif: 450 NS:6 2HW4 170 6.0 2
» T95 IMP: 3 EW:4 3DW3 110 20 2 & AT3 IMP: 10 EW:5 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 -20 1 ||e AT82 ¢ Q7
+ 86 & KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ * T3 S ~~~~~ + K94
E ~~~~~ » AJ4 E ~~~~~ * J9864
W ~~~~~ W ~~~~~
#7 » A6 4HN-2 -200 Mean: 4HS-1 4100 00 8 ||#8 s QT 4HE-4 200 Mean: 3SXS4 630 9.0 1
v A863 4HS-1-100 -110  4HN-1 4100 00 1 v T98 4SS4 420 210  4SS4 420 50 2
¢ A74 Dif: -100 NS:-3 4HN-2 200 -3.0 1 *9 Dif: -220 NS:0 4HE-4 200 0.0 1
& 8532 IMP: -3 EW:0 & KQJT975 IMP: -6 EW:-5 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
& AQ S » J9764 A » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~~~~~ v K942 N ~~~~~ v A3
S ~~~~~ + KQ92 S ~~~~~ + Q6543
E ~~~~~ & KT E ~~~~~ &
W ~~~~~ W ~ ~~~~




112& < & > AMEEHEHL 2RI

==> R1

#1: 9 EREBEFRERA7.1D) #2: 3 a%rm%(m 68) #3: 5 BkiEAElIH (14.39)

2 NS: BEESF FREEFEEAC) -1 1 NS: #ER BIZH#(FO) -3 11.27 : 8.73 | Total VP: 11.27 Rank:
EW: #e3 BIfRZEBIO) 3 EW: BREIE 3G (BAC) 1 IMP:| 17 14 4
I —
#1 » AT3 1NW-2 -100 Mean: 3HW-4 200 3.0 1 #2 » J654 4HE4 420 Mean: 4HE-3 150 80 1
v AJ76 3HW-4 -200 100 1NW-3 150 20 1 v Q75 4HES5 450 -210  4HE-2 100 70 2
¢ 62 Dif: 100 NS:3  1NN2 120 1.0 3 ¢ 93 Dif: -30 NS:-6 4HE-1 50 60 1
» T765 IMP: 3 EW:0 1NW-2 100 00 1 & AQJ4 IMP: -1 EW:5 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N ~~~~~ v KT5 N ~~~~~ v T3
§ ~~~~~ + KT84 S ~~~~~ o JT8742
E ~~~~~ & A84 E ~~~~~ & 652
W ~~~~~ W ~~~~~
#3 » AQ74 6CS6 -920 Mean: 6DN6 920 30 2||#4 » K97 1SW2 110 Mean: 3DW-2 200 6.0 1
6CS6-920 820 6CS6 920 30 7 v QJ8 1NN1-90 -30  1NN1 90 30 2
+ KQJ983 Dif: 0 NS:3 6DS-1 50 130 1 + K964 Dif: 200 NS:3 3DW3 410 20 1
& 972 IMP: 0 EW:-3 & AJT IMP: 5 EW:2 2DW3 110 20 1
» T983 a AJ4 1SW2 110 2.0 1
v QT63 + v T952 1NW1 90 20 1
¢ T2 ¢ T753 1NN-1 100 20 1
» A64 a K7 1NE1 90 20 1
a J2 a 152 1SW3 140 3.0 1
v AKJ9 v K643
*A *Q
& KQJ853 & Q8654
#5 » Q64 3DE3 110 Mean: 3NE-4 200 60 1||#6 » K97 2HW4 170 Mean: 4HW-1 100 110 1
v A92 3SS-2200 -50 5CE-3 150 50 1 v K92 4HW4 620 -410  3HW4 470 6.0 1
+ Q764 Dif: -90 NS:-4 2CE2 9 1.0 1 ¢ J653 Dif: -450 NS:-5 2HWA4 170 6.0 2
» T95 IMP: -3 EW:2 3DW3 110 20 2 & AT3 IMP: -10 EW:-6 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 -20 1 ||e AT82 ¢ Q7
+ 86 & KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ * T3 S ~~~~~ + K94
E ~~~~~ » AJ4 E ~~~~~ * J9864
W ~~~~~ W ~~~~~
#7 » A6 4HN-2 200 Mean: 4HS-1 4100 00 8 ||#8 s QT 4HE-4 -200 Mean: 3SXS4 630 9.0 1
v A863 4HS-1100 -110  4HN-1 4100 00 1 v T98 4SS4 -420 210  4SS4 420 50 2
¢ A74 Dif: 100 NS:0 4HN-2 200 -3.0 1 *9 Dif: 220 NS:5 4HE-4 200 0.0 1
& 8532 IMP: 3 EW:3 & KQJT975 IMP: 6 EW:0 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
& AQ S » J9764 A » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~~~~~ v K942 N ~~~~~ v A3
S ~~~~~ + KQ92 S ~~~~~ + Q6543
E ~~~~~ & KT E ~~~~~ &
W ~~~~~ W ~ ~~~~




112& < & > AMEEHEHL 2RI

==> R1

#1: 9 EREBEFRERA7.1D) #2: 3 a%rm%(m 68) #3: 5 BkiEAElIH (14.39)

3 NS: FENER 2 E R (GHO) 10 4 NS: Hiinss iHiEH(BAC) -3 14.68 : 5.32 Total VP: 14.68 Rank:
EW: #H{-E BESFREIC) 3 EW: #a3H fAIRE(E0) 1 IMP:| 21 : 8 2
I -
#1 s AT3 1NN2 120 Mean: 3HW-4 200 30 1 |[#2 » J654 4HE-2 100 Mean: 4HE-3 150 8.0 1
v AJ76 1NW-3 150 100  1NW-3 150 2.0 1 v Q75 3NW3 -400 -210 4HE-2 100 70 2
¢ 62 Dif: -30 NS:1  1NN2 120 1.0 3 ¢ 93 Dif: 500 NS:7 4HE-1 50 60 1
» T765 IMP: -1 EW:-2 1NW-2 100 00 1 & AQJ4 IMP: 11 EW:5 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N ~~~~~ v KT5 N ~~~~~ v T3
S ~~~~~ ¢ KT84 S ~~~~~ o JT8742
E ~~~~~ & A84 E ~~~~~ & 652
W ~~~~~ W ~~~~~
6CS6 920 Mean: 6DNG6 920 30 2||#4 » K97 1NN-1 -100 Mean: 3DW-2 200 6.0 1
6DN6 920 820 6CS6 920 30 7 v QJ8 1NE1-90 -30  1NN1 90 30 2
Dif: 0 NS:3 6DS-1 50 130 1 + K964 Dif: -10 NS:-2 3DW3 410 20 1
IMP: 0 EW:-3 & AJT IMP: 0 EW:2 2DW3 110 20 1
» T983 a AJ4 1SW2 110 2.0 1
v QT63 + v T952 1NW1 90 20 1
¢ T2 ¢ T753 1NN-1 100 20 1
» A64 a K7 1NE1 90 20 1
o 152 1SW3 140 3.0 1
v K643
*Q
& Q8654
#5 » Q64 2SS-1 100 Mean: 3NE-4 200 60 1||#6 » K97 3HW4 -170 Mean: 4HW-1 100 110 1
v A92 2CE2-90 -50 5CE-3 150 50 1 v K92 4HW4 -620 -410  3HW4 170 6.0 1
+ Q764 Dif: 10 NS:-2 2CE2 9 1.0 1 ¢ J653 Dif: 450 NS:6 2HW4 170 6.0 2
» T95 IMP: 0 EW:1 3DW3 110 20 2 & AT3 IMP: 10 EW:5 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 20 1 ||e AT82 ¢ Q7
+ 86 & KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ * T3 S ~~~~~ + K94
E ~~~~~ » AJ4 E ~~~~~ * J9864
W ~~~~~ W ~~~~~
#7 » A6 4HN-1 -100 Mean: 4HS-1 4100 00 8 ||#8 s QT 3CS3 110 Mean: 3SXS4 630 9.0 1
v A863 4HS-1-100 -110  4HN-1 4100 00 1 v T98 4S5S4 420 210  4SS4 420 50 2
¢ A74 Dif: 0 NS:0 4HN-2 200 -3.0 1 *9 Dif: -310 NS:-3 4HE-4 200 0.0 1
& 8532 IMP: 0 EW:0 & KQJT975 IMP: -7 EW:-5 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
* AQ S » J9764 A4 » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~~~~~ v K942 N ~~~~~ v A3
S ~~~~~ + KQ92 S ~~~~~ ¢ Q6543
E ~~~~~ & KT E ~~~~~ &
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> R1 1

#1: 9 EREBEFRERA7.1D) #2: 3 a%rm%(m 68) #3: 5 BkiEAElIH (14.39)

4 NS: FiFas FEGEIC) 3 3 NS: #lEF 52/~ (FH0) 10 5.32 14.68 | Total VP: 5.32 Rank:
EW: #hH as2&h(BF0) -10 EW: #F{_E BRFR(BAC) 3 IMP:| 8 21 9
I —
#1 » AT3 1NN2 -120 Mean: 3HW-4 200 3.0 1 #2 » J654 4HE-2 -100 Mean: 4HE-3 150 80 1
v AJ76 1NW-3 -150 100 1NW-3 150 20 1 v Q75 3NW3 400 -210 4HE-2 100 70 2
¢ 62 Dif: 30 NS:2 1NN2 120 1.0 3 ¢ 93 Dif: -500 NS:-5 4HE-1 50 60 1
» T765 IMP: 1 EW:-1  1NW-2 100 00 1 & AQJ4 IMP: -11 EW:-7 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N ~~~~~ v KT5 N ~~~~~ v T3
§ ~~~~~ + KT84 S ~~~~~ o JT8742
E ~~~~~ & A84 E ~~~~~ & 652
W ~~~~~ W ~~~~~
#3 » AQ74 6CS6 -920 Mean: 6DN6 920 30 2||#4 » K97 1NN-1 100 Mean: 3DW-2 200 6.0 1
6DN6 -920 820 6CS6 920 30 7 v QJ8 1NE190 -30  1NN1 90 30 2
+ KQJ983 Dif: 0 NS:3 6DS-1 50 130 1 + K964 Dif: 10 NS:-2 3DW3 410 20 1
& 972 IMP: 0 EW:-3 & AJT IMP: 0 EW:2 2DW3 110 20 1
» T983 a AJ4 1SW2 110 2.0 1
v QT63 + v T952 1NW1 90 20 1
¢ T2 ¢ T753 1NN-1 100 20 1
» A64 a K7 1NE1 90 20 1
» J2 a 152 1SW3 140 3.0 1
v AKJ9 v K643
*A *Q
& KQJ853 & Q8654
#5 » Q64 2SS-1 100 Mean: 3NE-4 200 60 1||#6 » K97 3HW4 170 Mean: 4HW-1 100 110 1
v A92 2CE290 -50 5CE-3 150 50 1 v K92 4HW4 620 -410  3HW4 470 6.0 1
+ Q764 Dif: 10 NS:-1  2CE2 9 1.0 1 ¢ J653 Dif: -450 NS:-5 2HWA4 170 6.0 2
» T95 IMP: 0 EW:2 3DW3 110 20 2 & AT3 IMP: -10 EW:-6 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 20 1 ||e AT82 ¢ Q7
+ 86 & KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ * T3 S ~~~~~ + K94
E ~~~~~ » AJ4 E ~~~~~ * J9864
W ~~~~~ W ~~~~~
#7 » A6 4HN-1 100 Mean: 4HS-1 4100 00 8 ||#8 s QT 3CS3 -110 Mean: 3SXS4 630 9.0 1
v A863 4HS-1100 -110  4HN-1 4100 00 1 v T98 4SS4 -420 210  4SS4 420 50 2
¢ A74 Dif: 0 NS:0 4HN-2 200 -3.0 1 *9 Dif: 310 NS:5 4HE-4 200 0.0 1
& 8532 IMP: 0 EW:0 & KQJT975 IMP: 7 EW:3 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
& AQ S » J9764 A » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~~~~~ v K942 N ~~~~~ v A3
S ~~~~~ + KQ92 S ~~~~~ ¢ Q6543
E ~~~~~ & KT E ~~~~~ &
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> R1

#1: 9 EREBEFRERA7.1D) #2: 3 a%rm%(m 68) #3: 5 BkiEAElIH (14.39)

5 NS: E4:5E 22 GH0) -1 6 NS: BREEZE 2 (BAC) -16 1439 : 5.61 | Total VP: 14.39 Rank:
EW: MR H#EZEEIC) 16 EW: ¥ 518 FE1E(BAO) 1 IMP:| 29 17 3
I -
#1 s AT3 1NN2 120 Mean: 3HW-4 200 30 1 |[#2 » J654 4HE-2 100 Mean: 4HE-3 150 8.0 1
v AJ76 2SE-150 100  1NW-3 150 2.0 1 v Q75 3NW4 -430 -210  4HE-2 100 70 2
¢ 62 Dif: 70 NS:1  1NN2 120 1.0 3 ¢ 93 Dif: 530 NS:7 4HE-1 50 60 1
» T765 IMP: 2 EW:2 1NW-2 100 00 1 & AQJ4 IMP: 11 EW:6 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N ~~~~~ v KT5 N ~~~~~ v T3
S ~~~~~ ¢ KT84 S ~~~~~ o JT8742
E ~~~~~ & A84 E ~~~~~ & 652
W ~~~~~ W ~~~~~
6CS6 920 Mean: 6DNG6 920 30 2||#4 » K97 2DW3 -110 Mean: 3DW-2 200 6.0 1
6DS-1-50 820 6CS6 920 30 7 v QJ8 1NW1-90 -30  1NN1 90 30 2
Dif: 970 NS:3  6DS-1 50 130 1 + K964 Dif: -20 NS:-2 3DW3 410 20 1
IMP: 14 EW:13 & AJT IMP: -1 EW:2 2DW3 410 220 1
» T983 a AJ4 1SW2 110 2.0 1
v QT63 + v T952 1NW1 90 20 1
¢ T2 ¢ T753 1NN-1 100 20 1
» A64 a K7 1NE1 90 20 1
a 152 1SW3 140 3.0 1
v K643
*Q
& Q8654
#5 » Q64 3DW3 -110 Mean: 3NE-4 200 60 1||#6 » K97 4HW4 -620 Mean: 4HW-1 100 110 1
v A92 5CE-3150 -50  5CE-3 150 50 1 v K92 2HW4 -170 -410  3HW4 170 6.0 1
+ Q764 Dif: -260 NS:-2 2CE2 9 1.0 1 ¢ J653 Dif: -450 NS:-5 2HWA4 170 6.0 2
» T95 IMP: -6 EW:-5 3DW3 110 20 2 & AT3 IMP: -10 EW:-6 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 20 1 ||e AT82 ¢ Q7
+ 86 & KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ * T3 S ~~~~~ + K94
E ~~~~~ » AJ4 E ~~~~~ * J9864
W ~~~~~ W ~~~~~
#7 » A6 4HS-1-100 Mean: 4HS-1 4100 00 8 ||#8 s QT 3HE-2 100 Mean: 3SXS4 630 9.0 1
v A863 4HS-1-100 -110  4HN-1 4100 00 1 v T98 3HE-150 210 4Ss4 420 50 2
¢ A74 Dif: 0 NS:0 4HN-2 200 -3.0 1 *9 Dif: 50 NS:-3 4HE-4 200 0.0 1
& 8532 IMP: 0 EW:0 & KQJT975 IMP: 2 EW:4 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢+ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
& AQ S » J9764 A4 » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~~~~~ v K942 N ~~~~~ v A3
S ~~~~~ + KQ92 S ~~~~~ + Q6543
E ~~~~~ & KT E ~~~~~ &
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> R1 1

#1: 9 EREBEFRERA7.1D) #2: 3 a%rm%(m 68) #3: 5 BkiEAElIH (14.39)

6 NS: BRzEEE HIM B EAC) -16 5 NS: E€5E H 2% (BO) - 1| 5.61 14.39| Total VP: 5.61 Rank:
EW: &5 EEEI0) 1 EW: i#tiRiE MER(BAC) 1 IMP:| 17 29 8
I —
#1 » AT3 1NN2 -120 Mean: 3HW-4 200 3.0 1 #2 » J654 4HE-2 -100 Mean: 4HE-3 150 80 1
v AJ76 2SE-1-50 100 1NW-3 150 20 1 v Q75 3NW4 430 -210 4HE-2 100 70 2
¢ 62 Dif: -70 NS:-2 1NN2 120 1.0 3 ¢ 93 Dif: -530 NS:-6 4HE-1 50 60 1
» T765 IMP: -2 EW:-1  1NW-2 100 00 1 & AQJ4 IMP: -11 EW:-7 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N ~~~~~ v KT5 N ~~~~~ v T3
§ ~~~~~ + KT84 S ~~~~~ o JT8742
E ~~~~~ & A84 E ~~~~~ & 652
W ~~~~~ W ~~~~~
#3 » AQ74 6CS6 -920 Mean: 6DN6 920 30 2||#4 » K97 2DW3 110 Mean: 3DW-2 200 6.0 1
6DS-150 820 6CS6 920 30 7 v QJ8 1NW190 -30  1NN1 90 30 2
+ KQJ983 Dif: -970 NS:-13 6DS-1 50 130 1 + K964 Dif: 20 NS:-2 3DW3 410 20 1
& 972 IMP: -14 EW:-3 & AJT IMP: 1 EW:2 2DW3 110 20 1
» T983 a AJ4 1SW2 110 2.0 1
v QT63 + v T952 1NW1 90 20 1
¢ T2 ¢ T753 1NN-1 100 20 1
» A64 a K7 1NE1 90 20 1
» J2 a 152 1SW3 140 3.0 1
v AKJ9 v K643
*A *Q
& KQJ853 & Q8654
#5 » Q64 3DW3 110 Mean: 3NE-4 200 60 1||#6 » K97 4HW4 620 Mean: 4HW-1 100 110 1
v A92 5CE-3-150 -50 5CE-3 150 50 1 v K92 2HW4 170 -410  3HW4 470 6.0 1
+ Q764 Dif: 260 NS:5 2CE2 9 1.0 1 ¢ J653 Dif: 450 NS:6 2HW4 170 6.0 2
» T95 IMP: 6 EW:2 3DW3 110 20 2 & AT3 IMP: 10 EW:5 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 20 1 ||e AT82 ¢ Q7
+ 86 & KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ * T3 S ~~~~~ + K94
E ~~~~~ » AJ4 E ~~~~~ * J9864
W ~~~~~ W ~~~~~
#7 » A6 4HS-1100 Mean: 4HS-1 4100 00 8 ||#8 s QT 3HE-2 -100 Mean: 3SXS4 630 9.0 1
v A863 4HS-1100 -110  4HN-1 4100 00 1 v T98 3HE-1-50 210 4SS4 420 50 2
¢ A74 Dif: 0 NS:0 4HN-2 200 -3.0 1 *9 Dif: -50 NS:-4 4HE-4 200 0.0 1
& 8532 IMP: 0 EW:0 & KQJT975 IMP: -2 EW:3 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
& AQ S » J9764 A » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~~~~~ v K942 N ~~~~~ v A3
S ~~~~~ + KQ92 S ~~~~~ ¢ Q6543
E ~~~~~ & KT E ~~~~~ &
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> R1

#1: 9 EREBEFRERA7.1D) #2: 3 a%rm%(m 68) #3: 5 BkiEAElIH (14.39)

7 NS: BXE R BRER(BE0) -2 8 NS: Sp#li4 2185 (BAC) -3 10.86 : 9.14 Total VP: 10.86 Rank:
EW: 27 FEBEI0) 3 EW: [RE3E £I&#%(BAO) 2 IMP:} 13 : 11 5
I o -
#1 » AT3 2SE-1 50 Mean: 3HW-4 200 3.0 1 #2 » J654 4HE4 -420 Mean: 4HE-3 150 80 1
v AJ76 2SE-150 100 1NW-3 150 20 1 v Q75 4HE-3 150 -210  4HE-2 100 70 2
¢ 62 Dif: 0 NS:-2 1NN2 120 1.0 3 ¢ 93 Dif: -570 NS:-5 4HE-1 50 60 1
» T765 IMP: 0 EW:2 1NW-2 100 00 1 & AQJ4 IMP: -11 EW:-8 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N ~~~~~ v KT5 N ~~~~~ v T3
§ ~~~~~ + KT84 S ~~~~~ o JT8742
E ~~~~~ & A84 E ~~~~~ & 652
W ~~~~~ W ~~~~~
#3 » AQ74 6DN6 920 Mean: 6DNG6 920 30 2||#4 » K97 1NN1 90 Mean: 3DW-2 200 6.0 1
6CS6 920 820 6CS6 920 30 7 v QJ8 1SW3 -140 -30  1NN1 90 30 2
+ KQJ983 Dif: 0 NS:3 6DS-1 50 130 1 + K964 Dif: 230 NS:3 3DW3 410 20 1
& 972 IMP: 0 EW:-3 & AJT IMP: 6 EW:3 2DW3 110 20 1
» T983 a AJ4 1SW2 110 2.0 1
v QT63 + v T952 1NW1 90 20 1
¢ T2 ¢ T753 1NN-1 100 20 1
» A64 a K7 1NE1 90 20 1
a J2 a 152 1SW3 140 3.0 1
v AKJ9 v K643
*A *Q
& KQJ853 & Q8654
#5 » Q64 3NE-4 200 Mean: 3NE-4 200 60 1||#6 » K97 4HW4 -620 Mean: 4HW-1 100 110 1
v A92 2DW3 -110 -50  5CE-3 150 50 1 v K92 4HW4 -620 -410  3HW4 470 6.0 1
+ Q764 Dif: 310 NS:6 2CE2 9 1.0 1 ¢ J653 Dif: 0 NS:-5 2HW4 170 6.0 2
» T95 IMP: 7 EW:2 3DW3 110 20 2 & AT3 IMP: 0 EW:5 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 -20 1 ||e AT82 ¢ Q7
+ 86 & KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ ¢T3 S ~~~~~ + K94
E ~~~~~ & AJ4 E ~~~~~ & J9864
W ~~~~~ W ~~~~~
#7 » A6 4HS-1-100 Mean: 4HS-1 4100 00 8 ||#8 s QT 4CN5 150 Mean: 3SXS4 630 9.0 1
v A863 4HS-1-100 -110  4HN-1 4100 00 1 v T98 3CN5150 210 4SS4 420 50 2
¢ A74 Dif: 0 NS:0 4HN-2 200 -3.0 1 *9 Dif: 0 NS:-2 4HE-4 200 0.0 1
& 8532 IMP: 0 EW:0 & KQJT975 IMP: 0 EW:2 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
& AQ S » J9764 A » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~~~~~ v K942 N ~~~~~ v A3
S ~~~~~ + KQ92 S ~~~~~ ¢ Q6543
E ~~~~~ & KT E ~~~~~ &
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> R1 1

#1: 9 EREBEFRERA7.1D) #2: 3 a%rm%(m 68) #3: 5 BkiEAElIH (14.39)

8 NS: sS4t 221§ HEEAC) -3 7 NS: BRE B BREE5 (BO) -2 9.14 10.86 | Total VP: 9.14 Rank:
EW: PR Z255E50) 2 EW: RiE5 BEHE(RAC) 3 IMP:| 11 13 6
I — —
#1 » AT3 2SE-1 -50 Mean: 3HW-4 200 3.0 1 #2 » J654 4HE4 420 Mean: 4HE-3 150 80 1
v AJ76 2SE-1-50 100 1NW-3 150 20 1 v Q75 4HE-3 -150 -210  4HE-2 100 70 2
¢ 62 Dif: 0 NS:-2 1NN2 120 1.0 3 ¢ 93 Dif: 570 NS:8 4HE-1 50 60 1
» T765 IMP: 0 EW:2 1NW-2 100 00 1 & AQJ4 IMP: 11 EW:5 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N ~~~~~ v KT5 N ~~~~~ v T3
§ ~~~~~ + KT84 S ~~~~~ o JT8742
E ~~~~~ & A84 E ~~~~~ & 652
W ~~~~~ W ~~~~~
#3 » AQ74 6DN6 -920 Mean: 6DN6 920 30 2||#4 » K97 1NN1 -90 Mean: 3DW-2 200 6.0 1
6CS6 -920 820 6CS6 920 30 7 v QJ8 1SW3 140 -30  1NN1 90 30 2
+ KQJ983 Dif: 0 NS:3 6DS-1 50 130 1 + K964 Dif: -230 NS:-3 3DW3 410 20 1
& 972 IMP: 0 EW:-3 & AJT IMP: -6 EW:-3 2DW3 110 20 1
» T983 a AJ4 1SW2 110 2.0 1
v QT63 + v T952 1NW1 90 20 1
¢ T2 ¢ T753 1NN-1 100 20 1
» A64 a K7 1NE1 90 20 1
a J2 a 152 1SW3 140 3.0 1
v AKJ9 v K643
*A *Q
& KQJ853 & Q8654
#5 » Q64 3NE-4 -200 Mean: 3NE-4 200 60 1||#6 » K97 4HW4 620 Mean: 4HW-1 100 110 1
v A92 2DW3 110 -50 5CE-3 150 50 1 v K92 4HW4 620 -410  3HW4 470 6.0 1
+ Q764 Dif: -310 NS:-2 2CE2 9 1.0 1 ¢ J653 Dif: 0 NS:-5 2HW4 170 6.0 2
» T95 IMP: -7 EW:-6 3DW3 110 20 2 & AT3 IMP: 0 EW:5 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 -20 1 ||e AT82 ¢ Q7
+ 86 & KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ ¢T3 S ~~~~~ + K94
E ~~~~~ & AJ4 E ~~~~~ & J9864
W ~~~~~ W ~~~~~
#7 » A6 4HS-1100 Mean: 4HS-1 4100 00 8 ||#8 s QT 4CN5 -150 Mean: 3SXS4 630 9.0 1
v A863 4HS-1100 -110  4HN-1 4100 00 1 v T98 3CN5-150 210  4SS4 420 50 2
¢ A74 Dif: 0 NS:0 4HN-2 200 -3.0 1 *9 Dif: 0 NS:-2 4HE-4 200 0.0 1
& 8532 IMP: 0 EW:0 & KQJT975 IMP: 0 EW:2 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
& AQ S » J9764 A » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~~~~~ v K942 N ~~~~~ v A3
S ~~~~~ + KQ92 S ~~~~~ ¢ Q6543
E ~~~~~ & KT E ~~~~~ &
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> R1

#1: 9 EREBEFRERA7.1D) #2: 3 a%rm%(m 68) #3: 5 BkiEAElIH (14.39)

9 NS: SRHH3E 5R{EBA(GH0) 23 1 O NS: EB175] SX#E(BAC) -8 17.11 2.89 | Total VP: 17.11 Rank:
EW: EE:yJ,m EREEIC) 8 EW: E3Z5E 5REFH(BAO) -2 IMP:| 33 10 1
-
#1 . AT3 1NN2 120 Mean: 3HW-4 200 3.0 1 #2 » J654 4HE4 -420 Mean: 4HE-3 150 80 1
v AJ76 2SE-150 100 1NW-3 150 20 1 v Q75 4HE-1 50 -210 4HE-2 100 70 2
¢ 62 Dif: 70 NS:1  1NN2 120 1.0 3 ¢ 93 Dif: -470 NS:-5 4HE-1 50 60 1
» T765 IMP: 2 EW:2 1NW-2 100 00 1 & AQJ4 IMP: -10 EW:-6 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N ~~~~~ v KT5 N ~~~~~ v T3
§ ~~~~~ + KT84 S ~~~~~ o JT8742
E ~~~~~ & A84 E ~~~~~ & 652
W ~~~~~ W ~~~~~
#3 » AQ74 6CS6 920 Mean: 6DN6 920 30 2||#4 » K97 3DW-2 200 Mean: 3DW-2 200 6.0 1
6CS6 920 820 6CS6 920 30 7 v QJ8 3DW3-110 -30 1NNt 90 30 2
+ KQJ983 Dif: 0 NS:3 6DS-1 50 130 1 + K964 Dif: 310 NS:6 3DW3 410 20 1
& 972 IMP: 0 EW:-3 & AJT IMP: 7 EW:2 2DW3 110 20 1
» T983 a AJ4 1SW2 110 2.0 1
v QT63 + v T952 1NW1 90 20 1
¢ T2 ¢ T753 1NN-1 100 20 1
» A64 a K7 1NE1 90 20 1
» J2 a 152 1SW3 140 3.0 1
v AKJ9 v K643
*A *Q
& KQJ853 & Q8654
#5 » Q64 3DW3 -110 Mean: 3NE-4 200 60 1||#6 » K97 4HW-1 100 Mean: 4HW-1 100 110 1
v A92 3DE3 -110 -50  5CE-3 150 50 1 v K92 4HW4 -620 -410  3HW4 470 6.0 1
+ Q764 Dif: 0 NS:-2 2CE2 9 1.0 1 ¢ J653 Dif: 720 NS:11  2HW4 170 6.0 2
» T95 IMP: 0 EW:2 3DW3 110 20 2 & AT3 IMP: 12 EW:5 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 20 1 ||e AT82 ¢ Q7
+ 86 & KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ * T3 S ~~~~~ + K94
E ~~~~~ » AJ4 E ~~~~~ * J9864
W ~~~~~ W ~~~~~
#7 » A6 4HS-1-100 Mean: 4HS-1 4100 00 8 ||#8 s QT 3SXS4 630 Mean: 3SXS4 630 9.0 1
v A863 4HS-1-100 -110  4HN-1 4100 00 1 v T98 4SS-1-50 210 4SS4 420 50 2
¢ A74 Dif: 0 NS:0 4HN-2 200 -3.0 1 *9 Dif: 680 NS:9 4HE-4 200 0.0 1
& 8532 IMP: 0 EW:0 & KQJT975 IMP: 12 EW:6 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
& AQ S » J9764 A » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~~~~~ v K942 N ~~~~~ v A3
S ~~~~~ + KQ92 S ~~~~~ ¢ Q6543
E ~~~~~ & KT E ~~~~~ &
W ~~~~~ W ~~~~~




112& < & > AMEEHEHL 2RI

==> R1

#1: 9 EREBEFRERA7.1D) #2: 3 a%rm%(m 68) #3: 5 BkiEAElIH (14.39)

1 O NS: FRI7FH =OLEEEAC) -8 9 NS: 28R3E R{2AH(FFO) 23 2.89 17.11| Total VP: 2.89 Rank:
EW: E 58 REEREBEHO) -23 EW: EI7K EBE(BAC) 8 IMP:| 10 33 10
I —
#1 » AT3 1NN2 -120 Mean: 3HW-4 200 3.0 1 #2 » J654 4HE4 420 Mean: 4HE-3 150 80 1
v AJ76 2SE-1-50 100 1NW-3 150 20 1 v Q75 4HE-1 -50 -210  4HE-2 100 70 2
¢ 62 Dif: -70 NS:-2 1NN2 120 1.0 3 ¢ 93 Dif: 470 NS:6 4HE-1 50 60 1
» T765 IMP: -2 EW:-1 1NW-2 100 00 1 & AQJ4 IMP: 10 EW:5 4HE4 420 -50 3
s J9 » Q7642 2SE-1 50 20 4 ||aT97 » AQ32 3NW3 400 -50 1
v Q432 v 98 v 984 I v AKJ62 4HES -450 6.0 1
¢ QJI953 * A7 + A65 + KQ 3NW4 430 -6.0 1
+ Q9 & KJ32 & KT93 » 87
® VBN 4, K85 o ¢VABN 4 K8
N ~~~~~ v KT5 N ~~~~~ v T3
§ ~~~~~ + KT84 S ~~~~~ o JT8742
E ~~~~~ & A84 E ~~~~~ & 652
W ~~~~~ W ~~~~~
#3 » AQ74 6CS6 -920 Mean: 6DN6 920 30 2||#4 » K97 3DW-2 -200 Mean: 3DW-2 200 6.0 1
6CS6-920 820 6CS6 920 30 7 v QJ8 3DW3 110 -30  1NN1 90 30 2
+ KQJ983 Dif: 0 NS:3 6DS-1 50 130 1 + K964 Dif: -310 NsS:-2 3DW3 410 20 1
& 972 IMP: 0 EW:-3 & AJT IMP: -7 EW:-6 2DW3 110 20 1
» T983 a AJ4 1SW2 110 2.0 1
v QT63 + v T952 1NW1 90 20 1
¢ T2 ¢ T753 1NN-1 100 20 1
» A64 a K7 1NE1 90 20 1
a J2 a 152 1SW3 140 3.0 1
v AKJ9 v K643
*A *Q
& KQJ853 & Q8654
#5 » Q64 3DW3 110 Mean: 3NE-4 200 60 1||#6 » K97 4HW-1 -100 Mean: 4HW-1 100 110 1
v A92 3DE3110 -50  5CE-3 150 50 1 v K92 4HW4 620 -410  3HW4 470 6.0 1
+ Q764 Dif: 0 NS:-2 2CE2 9 1.0 1 ¢ J653 Dif: -720 NS:-5 2HWA4 170 6.0 2
» T95 IMP: 0 EW:2 3DW3 110 20 2 & AT3 IMP: -12 EW:-11 4HW4 620 -50 6
s 97 & AT2 3DE3 410 20 2 | |a QJT2 ~ A86
v 753 v KQJ8 2881 100 -20 1 v A83 — v QT754
+ AKJ985 .2 2DW3 110 -20 1 ||e AT82 ¢ Q7
+ 86 & KQ732 38S8-2 -200 -40 1 & KQ & 752
o4 VAN 4 KJB53 o ¢ VBN 4543
N ~~~~~ v T64 N ~~~~~ v J6
S ~~~~~ * T3 S ~~~~~ + K94
E ~~~~~ » AJ4 E ~~~~~ * J9864
W ~~~~~ W ~~~~~
#7 » A6 4HS-1100 Mean: 4HS-1 4100 00 8 ||#8 s QT 3SXS4 -630 Mean: 3SXS4 630 9.0 1
v A863 4HS-1100 -110  4HN-1 4100 00 1 v T98 4SS-150 210 4Ss4 420 50 2
¢ A74 Dif: 0 NS:0 4HN-2 200 -3.0 1 *9 Dif: -680 NS:-6 4HE-4 200 0.0 1
& 8532 IMP: 0 EW:0 & KQJT975 IMP: -12 EW:-9 4CN5 150 2.0 1
» K9752 » Q83 # 65 » 974 3CN5 150 -20 1
vJ7 + v QT5 v KQ75 v J642 ME2 100 30 1
¢ T653 ¢ J8 ¢ AK872 o JT 3Cs3 110 3.0 1
& AQ S » J9764 A4 » 8632 3HE-1 50 -40 1
SOV ABN ,JT4 ¢ VAN 4, AKJB32 4SS-1 -50 6.0 1
N ~~~~~ v K942 N ~~~~~ v A3
S ~~~~~ + KQ92 S ~~~~~ + Q6543
E ~~~~~ & KT E ~~~~~ &
W ~~~~~ W ~ ~~~~




